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Review: Sequences and Series

Arithmetic sequence:
e Add (or subtract = add negative) the same number d each time

e a,=a;+dn-1)

Geometric sequence

e Multiply (or divide = multiply by a fraction ) the same number r each time
n-1

L4 an = a1 r
Practice

Write the general term for each sequence.
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Write in summation notation.
2 2 2
5 2+5+5+

8 10 14 16
6) 2+§+“3—+4+";+?
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7) 6-34+2-242
2 4 8

8 2-1-4-7-10—-13-16—-19-21

_q3\n+1 .2
9) Finda;gowhena, = (—34——‘3—

10) Evaluate

6
Z3~2n
n=1

11) Evaluate S; whena, = 7n—1
12) Write the general term: 3,—-2,-7,-12,-17
13) Write in summation notation: 10 + 2 + % + 22—5

2

n+1
14) Find the first six terms of a, = 7 (— E)
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